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Note: you have four choices for each objective type question as A, B, C and D. The choice -q‘/::d’fﬁawr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1 A Ay
(1) 1(one) Megabyte is equal to : -{_t'ﬂ/.lf.ﬁ LA (LD )

A) (10242 bytes  (B) 4 (1024)3bytes  (C) UL (1024)* bytes (D) 7L (1024)5 bytes

(2) Routing is a process of taking -e- by - /»/A_.LQS:_LLQ@.'&%J& (ILi s, (2)
data from one device and sending it to another device on different
(A) Channel Jfg (B) Network J:u.g’ (C) Path Afg (D) Area |/
(3) How many layers TCP/IP model has? ?wzﬁj@dft TCP/IP (3)
(A) 4 (B) 3 (C) 5 (D) 6
(4) means making illegal and -tﬂg‘ﬂﬁjgfj :&?GﬁJk:dbﬂiaJ@!JJL%WK . (4)
unauthorized copies of the software without owner's permission.
(A) Right AL (B) Browsing 51 (C) Piracy &/:/g (D) Privacy 6./.::"4
(5) Which of the following is not a cyber crime? ‘.'g.u:‘f (l’l/}r’vvufc,uld:‘(y» (5)
(A) Hacking s (B) Phishing crime /1/_8%  (C) Identity theft (.d=3t8 (D) Decryption /443
(6) What type of language is HTML? O WML (B

(A) Programming J?l/i/? (B) Scripting .f;} (C) Object oriented ,‘e'i»I&E?"T (D) Markup ..{!JL

(7) Which is the correct HTML tag for inserting a line break? e LB HTML wond L& S Pofady (7)
(A) <BREAK> (B) <NEWLINE> (C) <BR> (D) <BL>
(8) Which solution is not reached through proper ?tlgta@fc. (Planning) th(%ﬁ../vfd’u/ (8)

algorithms planning or work planning?

(A) Prepared solution J5:5¢ (B) Candid solution 3.4
(C) Strategized solution J’u'{df = (D) Best solution J’Q’ e

(9) Itis used to determine the flow of steps in a flowchart? -g_mggdw{_LL/g:; ¥ (Flow) syl ot _wl’nﬁu’( (9)
(A) Process (B) Terminal J*/ (C) Flowline Ju}? (D) Connector /‘9’/

(10) The base of biparyg:umber system is: _q.gﬁ.’d/(ﬁbﬁdmél? (10)
(A) 16 (B) 8 C) 2 (D) 10
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and its part number on answer book, as given in the question paper.

SECTION- sl

TIME ALLOWED: 1.45 Hours

2. Attempt any four parts. 8= 2‘x 4
® What are the strategies of defining a problem?

(i) Define Problem Analysis.

(iiy ~ Describe the importance of flowchart in problem solving.

(iv) Define an algorithm.

(v)  Whatis meant by Hyper Link?

(viy  Write down the names of main sections of HTML document.

3. Attempt any four parts. 8=2x4

(i) Define memory.

(i) Convert (1000001), into decimal number system.

(iiy  Describe difference between volatile and non-volatile memory.
(iv) - Whatis meant by truth values?

{v) Define Piracy.

(vi)  What is cyber crime?

4. Attempt any four parts. 8=2x4

(M Define the TCP/IP.

(i) Define |Pv4 address.

(i)  What is meant by message?

(iv)  Whatis Computer Network model?
(v)  Write the characteristics of HTML.

(viy  Write the use of <html> tag.

SECTION-Il (92

NOTE: Attempt any two questions. 16=8x2
5. Explain determining requirements for a flowchart.

6. Why is computer network needed? Write in detail.

7. What is meant by Encryption? 8

Explian the importance of Encryption for everyday life on the Internet.
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Note: you have four choices for each objective type question as A, B, C and D. The choice -u’/ u“’f = Ul
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1 A Ay
(1) Borrowing and installing a copy of _‘ct'ﬂ-z'( t/dwl/LQKJﬁ;dwﬁ‘gﬁcg/»df (1)

an application software is called

(A) Softlifting 3L (B) Counterfeiting (b Jf?
(C) Hard disk-loading —£3/-C354 (D) Online piracy (- 2L SiuT

(2) lllegally accessing some one else's computer is called: -‘at'llsz//g)‘ vl o /;;JQ;)J)G‘;? 2)
(A) Softlifting @231~ (B) Confidentiality g"uk (C) Piracy (.~} (D) Hacking L&+

(3) There are types of headings in HTML document. _qf‘&cnuﬁf.d/(ﬁ - J&[B HTML (3)
(A) 4 (B) 5 ) 6 (D) 1

(4) HTML language is used to create: -q.&ndu-”lufé.lz f;,@ HTML (4)
(A) Image s+ (B) Tag & (C) Webpage &ess (D) Attribute L/

(5) is a graphical representation of an algorithm. <‘41uﬁldgﬂuﬁgz}m (5)
(A) Matrix /6 (B) Graph Jlf (C) Flowchart ~"/.‘,”5 (D) Solution S

(6) Before problem solving, first we needto _____ a problem. -4,153/ o KJ’%@L/J’I&U( (6)
(A) Analysis -7 (B) Planning £t (C) Candid solution S (D) Defining o

(7) Number "17" is equal to : in binary system. ‘§,t‘;¢/.f/.£ I A /,;’uf("'/d/g 0
(A) 10000 (B) 10110 (C) 10001 (D) 10100

(8) The base of decimal number system is: -{-%’erdwdzﬁ‘" 8
@) 2 (B) 8 (©) 10 (D) 16

(9) E-mail stands for . —e ¥ (E-mail) J<U! ()
(A) Electronic mail JZet1:4) (B) Electrical mail J< &4
(C) Electronic medium (it (D) Electronic message Gt !

(10) How many basic components of communication system are? ?ugﬁuzad:gééﬁ"ﬁ@/ (10)
(A 1 (B) 3 ) 5 (D) 6
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NOTE: Write same question number -LDJ:U-‘:;-/.JV,C?ZE Z/JJ/’)]J;VUVG‘:/QKGV Y

and its part number on answer book, as given in the question paper.
SECTION-l sl

2. Attempt any four parts. 8=2x4 i ferlizupe 8 240
@)  Define flow line in flowchart symbols. Y ALY OV O
(i) What is "Act it Out" strategy? ‘-“at[ J’f JJ..%T:AJ ! (i)

(i)  How is the strategy "Gain Back ground Knowledge” ‘l;.t‘m?ub}v( S tfr;‘-")""u{-b’!:' 7 (i)
helpful in defining a problem?
(iv)  What is the purpose of "Input” and "Output” ?g‘;_.bm.ﬁ‘L[K “agadT” “au” .ymfzﬁ (iv)

notation of an algorithm?

(v)  How can you insert line break in HTML page? CpESL LAAEE HTMLLT )
(vi)  What is meant by anchor in HTML? °c,)l/br¢,/@~lgj‘ HTML (vi)
3. Attempt any four parts. 8=2x4 -5‘5//’...«&"?&!7!/{'::.6:( Y
0 Convert (156), decimal into binary number system. -J/Jyu"rwdwdﬂ,c,f;f (156)49 0]
(i)  Draw the truth table of NOT operator. - t—,.&;,;ga{» NOT (i)
(i)  What s the difference between Volatile and non-volatile memory? v(_tfa)u:umfd’eu»uc o Seos (il
(iv)  Conver (A23)4g Hexadecimal into binary. ' -u/J,vu"d/Lc_J" .8 (A23)46 (iv)
(v)  What is meant by Cyber Crime? ?‘a:l/g/c,(l’l/}’ v V)
(vi)  Whatis Softlifting? B (Vi)
4. Attempt any four parts. 8=2x4 _é{fa&lﬁﬁmbgc—éf ..4/.‘Ulf
()  Define file sharing. SIS ERESe W
(i) What is meant by increasing storage capacity? ?.;,,ygc,Luiu:quL/sﬁ (i)
(i)  What is meant by Message? : ‘»'4‘—}'/&’::{ G (iii)
(iv)  Describe Routing in the Internet. -Q/ugfjfj4¢;fl (iv)
(v)  How to write Headings and Sub-headings in "uj“&ac_jf/@}fq 7 f/{/‘ﬁuﬁwﬂfb‘ HTML £ v)

an HTML document?

(vi)  Write the procedure to create Hyperlink to image. Uk PGB y® (VD)

SECTION-Il (.

NOTE: Attempt any two questions. 16 =8x2 -égfggméavlﬁ:&di/ -
5. Define flowchart. 8 et B S S flesed 5

Also write the use of any three flowchart symbols.
6. Define any four layers of Computer Network Model. 8 -Q/JJ fg{)j«.’ﬂ;d@/&)ﬁh.ﬁm«g}&f -6

- Wieia nmta an Substitution Cipher Methods. 8 -Uf@fj{ui.é-l/[—dﬂ"d’? -7




